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1. FEH=7 AHM EL =75 ASG 255 ¢

2 /CAB=X, ZCBA=Yy > HEVHIX +y =90" - [K)5 AN //CB > Fibl
ZANH = /CBA=Y’ - K /MAH =90" — ZANH =90 —y" =X’ = ZCAB,

/AMH =90" = Z/ACB, AH =c=AB - fi[/
AAHM = AABC (AAS £%5).
KB SG=a=BC, ZAGS=90 =~/ACB, AG=b=AC - ffbL

AASG = AABC (SAS £%5).

i
AAHM = AASG.

2. EHH=FT BALEL=AT ABC &5 :
KB /BAL=90"— /MAH =90" —x" = /CBA, /BLA=90"=_/ACB, BA=c=AB - fff
LA



ABAL = AABC (AAS 44%).
3. U=V KBO B =f4Jp SAD &% :

KB ABAL = AABC - fiffDL ZLBA=Z/CAB=X - [N}

/KBO=90"- /LBA=90"—x = /CBA, /KOB=90"=/ACB, KB=c=AB : fiil/
AKBO = AABC (AAS £%5).
KB AD=a=BC, /SDA=90"=_/ACB, SD=FR=b=AC - fil/

ASAD = AABC (SAS £%4%).
i
AKBO = ASAD.
4. =P BQP B =) RVD 2% :

K& TA=a=BC, ZRAT =90 = ZACB, RA=b=AC - fflI

ARTA = AABC (SAS £4%).
5 ABAL = AABC, ARTA=AABC - FiflL ZPBQ = /LBA=~CAB,

/DRV = /ART = /CAB » a[#fif5 /PBQ = /DRV > YA EBQ=RV,

/BPQ =90 = ZRDV > FlL

ABQP = ARVD (AAS 44).
5. FEHAUZEIE OLNK BT FSVR 255
5 AKBO = AABC > fifLL ZOKB = ZCAB > T[#f5

ZOKN =90" -~ ZOKB =90 — ZCAB - [K k5 Z/DRV = ZCAB H ZFRV =90 — ZDRV >

Fiil ZFRV =90  — ZCAB - A[#Ef5
Z0OKN = ZFRV.
Y[R E ZKOL=90" = ZRFS, ZOLN =90 =_~/FSV - ff}L

DU OLNK BT FSVRAY U A AR FERH S -
F5 AKBO = AABC > fit LA

OK =CA=b=FR.
[X B AKBO = AABC, ABAL = AABC - FilBO=BC=a, BL=AC=b > o[}

OL=BL-BO=b-a=FG-SG=FS.
itk



PUSEFZOLNK = PUEFZFSVR.
6. :BEH=f4F HNM Bl =& AUD 2% -

K& AN //CB » Fiibl ZANH = Z/CBA=Y > A[HEE ZMNH = ZANH =y’ » [KJi:
ZMHN =90"— /MNH =90" -y = x" = ZDAU.

PRl 2 AAHM = AABC - FifLHM =BC =a » mJ#Es
HM =a = AD.
YA B ZHMN =90" = ZADU - Bl

AHNM = AAUD (ASA 4%5).
7. FEHVUIET QPLA BT UETA 2%

5 AAHM = AABC  Fifl ZMAH = ZCAB =X » {5
Z/QAL =90"— /MAH =90 —x" = ZUAT.

YR E ZQPL=90" = ZUET, ZPLA=90 =ZETA - AbL
VST QPLABITE TP UET AL TUE N FE B ERE S
[R5 ABAL = AABC > FiiABL=AC =b » Y[AE ABQP =~ ARVD > FfflL

BP=RD=b-a » A[#:
PL=BL-BP=b—(b—a)=a=ET.

Y[R B ABAL = AABC  FfLILA=CB=a » a[#E

LA=a=TA
T
VUAETZQPLA = TUEZUETA
8. Ex1e AR A HED 2B E B AYRR (S
F 5 ABKH [EifE = AAHM [ifE + AKBO[H % + ABQPH & + PUEHZOLNK [Hif&

+ AHNM [ f& + TU3E T QPLAE f&

= AASGH & + ASADHI % + ARVDIH 1 + PUiE 2 FSVRE f&
+ AAUDTH % + TUE TP UET AR F&

= IE /7P ARFGHITE + IEJT/ZADET [Hifs »
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